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'very SHORT ANSWER TYPE QUESTIONS

1.

2.

3.

(v)1,—a,a

Find the sum of indicated numbers of terms of each of the following GP:

] 2 4 :
@) 1, 3°9 " n terms
(i) x3, x5, x7, ---, n terms (x # £ 1)

(i1) J§'7_, \/-2_1, 347, ---, n terms

2 ... n terms (a # —1).

Find the sum of the following series:

(i)»ﬁ +2+ V8 + .- 12 terms | (ii)%+'%+l+"'nterms

(ziz) 0.15 + 0.015 + 0.0015 + --- 20 terms A(iv) 2 =—% +§1- + .- 12 terms.

Find the following sums:
' R AN TR R | 81
i) V3 +3+343 + -+ 729 i) S—5+g =g

Lone AnsweRr-l TyPE QUESTIONS

4.
o.

Given a GP with first term = 729, T; = 64; determine S. o
(i) How many terms of the sequence 3, 32, 33, ... are needed to give the sum

1207

(ii) How many terms of the GP 3, 3/2, 3/4, --- are needed to give the sum

3069/5127?
Evaluate the following:
11 , ' 8 . .
@) . @2+37) . @) 2@ +37h,
=1 j=1
2
Ifa +b + - + 1 is a geometric series, show that its sum is bll) a
. -a

(i) The fourth and seventh terms of a GP are 1/27 and 1/729 respectively. Find

the sum of n terms of the GP.
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VeErYy SHORT ANSWER TYPE QUESTIONS

1.

2.

() Find the GM between g and %

(ii) Find the GM between 0.008 and 0.2.

The GM between two positive numbers is 16. If one number is 32, find the other
number.

Long ANsWER-l' TYyPE QUESTIONS

3.

10.

If £ — 1is the GM between k — 2 and & + 1, then find the value of k.
If a, b, c, d are four distinct pos1t1ve quantities in AP, then show that _bc > ad.

Ifa, b, c, d are four distinct positive quantltles in GP, then show that a+ rd> b +c.

.

If A and G be the AM and GM between positive numbers a and b.respectively,
then show that a and b are the roots of the equation x2 — 2Ax + G2 =

Ifa, b, c are in AP, x is the GM between a and b, y is the GM between b and c,
show that b2 is the AM between x2 and y2. |

Find two positive numbers whose difference is 2 and whose AM exceeds the GM
by 1/2.

If the AM between two pOS1t1ve numbers exceeds thelr GM by 2 and the ratio of
the numbers be 1 : 4, find the numbers.

The AM between two positive numbers, whose sum is 100 is to their GMas5: 4.
Find the numbers.

Lonag ANswer-Il Type QUESTIONS

11,

12,

13.
14,
15.

If AM and GM of two positive numbers a and b are 10 and 8 respectively, find
the numbers. ' |
Insert two numbers between 3 and 81 so that the resulting sequence is a GP.

Insert 3 GM’s between 1 and 256.
Insert 6 GM’s between 1 and 2187.

Insert 4 GM’s between 1/9 and 27 and verify that their product is equal to the
fourth power of the GM between 1/9 and 27.
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